What is the name of the bone that forms the anterior portion of the pelvic girdle

* A. Pubis
* B. Femur
*C.Rib

* D. Scapula

Answer: A. Pubis

How many bones make up the pelvic girdle

*A 2
*B. 4
«C.8

*D.6

Answer: A. 2

What is the scientific name for the hip bone

« A. Femur
* B. Fibula
e C. Tibia

* D. Os coxae

Answer: D. Os coxae

Which bone articulates with the sacrum to form the sacroiliac joint

* A. Radius



* B. Tibia
e C. Femur

e D. llium

Answer: D. llium

What is the largest foramen in the human body, located in the pelvic girdle

* A. Obturator foramen
* B. Carpal foramen
* C. Sacral foramen

* D. Femoral foramen

Answer: A. Obturator foramen

What is the Latin name for the hip socket

* A. Acetabulum
* B. Femur
* C. Tibia

* D. Patella

Answer: A. Acetabulum

What is the name of the joint formed by the articulation between the femur and the h

* A. knee joint
* B. elbow joint
* C. hip joint

* D. shoulder joint



Answer: C. hip joint

What are the three fused bones that make up the hip bone

* A. Radius, ulna, carpals
* B. Scapula, clavicle, humerus
* C. Femur, tibia, fibula

¢ D. Ilium, ischium, pubis

Answer: D. llium, ischium, pubis

What is the purpose of the pelvic girdle in the human body

* A. To help with balance
* B. To aid in digestion
* C. To assist with breathing

* D. Support and protect the internal organs

Answer: D. Support and protect the internal organs

What is the name of the bony prominence on the hip bone that can be felt externally

* A. Ischial tuberosity
* B. Femoral head
e C. lliac crest

* D. Sacrum

Answer: C. lliac crest



What is the main function of the pelvic girdle in weight bearing

» A. To support the weight of the upper body and transfer it to the lower limbs
* B. To regulate body temperature
* C. To protect the internal organs in the abdominal cavity

* D. To assist in breathing and lung function

Answer: A. To support the weight of the upper body and transfer it to the lower limbs

What is the term for the opening in the pelvic girdle that allows for passage of blood

» A. Obturator foramen
* B. Acetabular foramen
* C. Sacral foramen

e D. Ischial foramen

Answer: A. Obturator foramen

Which bone of the pelvic girdle is responsible for supporting the weight of the body

e A. Ischium
* B. llium
e C. Pubis

 D. Femur

Answer: A. Ischium

What is the name of the joint between the two hip bones at the front of the body

* A. Shoulder joint



e B. Sacrum
* C. Hip joint

* D. Pubic symphysis

Answer: D. Pubic symphysis

What is the term for the joint that connects the two pubic bones at the front of the bc

* A. elbow joint
* B. knee joint
* C. shoulder joint

 D. pubic symphysis

Answer: D. pubic symphysis

What is the Latin name for the tailbone

* A. Scapula
* B. Femur
* C. Clavicle

* D. Coccyx

Answer: D. Coccyx

What is the name of the joint between the hip bone and the femur that allows for mo»

* A. Knee joint
* B. Elbow joint
* C. Hip joint

 D. Shoulder joint



Answer: C. Hip joint

What is the term for the curved upper edge of the hip bone

* A. Hip arch
* B. lliac crest
* C. Pelvic curve

» D. Femoral ridge

Answer: B. lliac crest

Which bone of the pelvic girdle is responsible for supporting the weight of the body

e A. Sacrum
* B. Clavicle
* C. Scapula

«D. Femur

Answer: A. Sacrum

What is the name of the joint between the sacrum and the ilium

* A. Shoulder joint
* B. Sacroiliac joint
* C. Hip joint

* D. Knee joint

Answer: B. Sacroiliac joint
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